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QUESTION 1

In order for HADR to start, which statement is true when setting the HADR_TIMEOUT database configuration value?
A. The HADR_TIMEOUT value must be identical on both the primary and the standby server.

B. Changes to the HADR_TIMEOUT value will take effect immediately.

C. If the HADR_TIMEOUT value is set to -1, connection timeouts will not occur.

D. If the HADR_TIMEOUT value is different between the two servers, the lowest value is used.

Correct Answer: A

QUESTION 2

If table space TBSP1 is using automatic storage, and the existing storage paths are full, which command would
increase the available storage?

A. ALTER DATABASE ADD STORAGE ON \\/db2/filesystem1\\

B. ALTER TABLESPACE tbspl ADD (\\/db2/filesystem1\\')

C. ALTER DATABASE ADD STORAGE FOR tbsp1 (\W/db2/filesystem1\\)
D. ALTER TABLESPACE thsp1 EXTEND USING (\/db2/filesystem1\\)

Correct Answer: A

QUESTION 3

If your DB2 server is not responding (hung), and you cannot run DB2 commands from the Command Line Processor,
which utility can be used to list the applications currently connected to the database MYDB?

A. db2dart
B. db2apptrk
C. db2acsutil
D. db2pd

Correct Answer: D

QUESTION 4
Which method should be used to construct an LBAC security component that represents a person\\'s level of trust?

A. SET
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B. TREE

C. ARRAY
D. ORDER

Correct Answer: C

QUESTION 5
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Which tool or command will display only the automatic storage paths in an existing backup image?

A. db2dart
B. db2ckbkp
C. INSPECT
D. db2pd

Correct Answer: B
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